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Q1 The process of increasing carbon percentage on the surface of low carbon steels is

known as
A. Hardening
B. Carburizing
C. Nitriding
D. Tempering

Ans X A A

" B.B

X c.c

X D.D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

4025576111
40255724441
40255724442
40255724443
40255724444
Answered

B




Q2 ppe degree of closeness of measured value to its true value is known as

A. Accuracy
B. Precision
C. Error

D. Tolerance

Ans @ AA
X B.B
X c.c
X D.D
Question ID : 4025576093
Option 11D : 40255724369
Option 2 ID : 40255724370
Option 3 ID : 40255724371
Option 4 ID : 40255724372
Status : Answered
Chosen Option : B
Q.3
He 1s European
A. a
B. an
C. the

D. no article

Ans @ AA
2 B.B
Xc.c
X D.D

Question ID : 4025576145
Option 11D : 40255724577
Option 2 ID : 40255724578
Option 3 ID : 40255724579
Option 4 1D : 40255724580
Status : Answered
Chosen Option: A




Q.4

39 YR 38 &1 711 Fa15U forgd gR1 YRd SfaRke aifal &1 siafe o dorm

A. UERIE
B. A% -di
C. T
D. T
Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576149
Option 11D : 40255724593
Option 2 ID : 40255724594
Option 3 ID : 40255724595
Option 4 ID : 40255724596
Status : Answered
Chosen Option : D
Q.5
HHEFG: At gRI W Jeidl &1 US
A. IT4
B. IT3
C. IT2
D. ITI
Ans X A A
X B.B
X cc
" D.D
Question ID : 4025576121
Option 11D : 40255724481
Option 2 ID : 40255724482
Option 3 ID : 40255724483
Option 4 1D : 40255724484
Status : Answered
Chosen Option : D




Q.6

FofaRad & O wAfad & fidl YT 61§l Sl Sl 8|
A AGABHR Y Tdg

B 1Id R a1 g3 BR

C THR (8%

D T fesmn

Ans X A A
« B.B
X c.c
X D.D
Question ID : 4025576152
Option 11D : 40255724605
Option 21D : 40255724606
Option'3'ID : 40255724607
Option 4 ID : 40255724608
Status : Answered
Chosen Option : D
Q.7 )
fRuifed &da 71fd 30 m/min & J1Y TIUTTY IUDHROT BT T HId
gU e 1T 60 mm N 6 & [eML................. SRULH 16U
A. 80 3RUITH
B. 159 3RUITH
C. 192 3ARUILH
D. 318 3RUYILH
Ans X A A
" B.B
xXc.c
X DD
Question ID : 4025576151
Option 11D : 40255724601
Option 2 ID : 40255724602
Option 3 1D : 40255724603
Option 4 1D : 40255724604
Status : Answered
Chosen Option : B




Q-8 The relation between the mating parts for assembly is called
A. Tolerance

B. Allowance

C. Limit
D. Fit
Ans X A A
X B.B
K cc
& D.D
Question ID : 4025576081
Option 11D : 40255724321
Option 2 ID : 40255724322
Option 3 ID : 40255724323
Option 4 ID : 40255724324
Status : Answered
Chosen Option : B
Q.9
SO 9aE ¥, Ms U9 @l ... aRId &
Ans  # AA
X B.B
K cc
X D.D
Question ID : 4025576128
Option 11D : 40255724509
Option 2 ID : 40255724510
Option 3 ID : 40255724511
Option 4 ID : 40255724512
Status : Not Answered

Chosen Option :




Q.10

qUre deo I1a- =Rl § oA )R w3 o1 35 8

A. TR SR e & &I gvul Bl HH BHRAl

B. TRl SiR dec & did 9vUl Bl (YD HRAT

C. foRAl SR dee & &9 JUIoH &9 Sl geH

D. de¢ & Rl IR Wdh g duT 33 FURYH @ & ferg

Ans X A A
X B.B
Xcc
& D.D

Question ID : 4025576125
Option 1 ID : 40255724497
Option 21D : 40255724498
Option 31D : 40255724499
Option 4.ID : 40255724500
Status : Answered
Chosen Option : D

Q11 JHM R WR A ared dieet 1 WA 61§l g
A H2I & o YR Hgrrdr
B =i &l ars wel 3 H
C T &l Tedl |
D IS T8l

Ans X A A
" B.B
Xcc
X D.D

Question ID : 4025576123
Option 11D : 40255724489
Option 2 ID : 40255724490
Option 3 ID : 40255724491
Option 4 ID : 40255724492
Status : Answered
Chosen Option: B




Q.12
Galvanizing is a process of

A. Nickel coating

B. Zinc coating

C. Aluminum coating
D

. Gallium coating

Ans X A A
« B.B
X c.c
X D.D
Question ID : 4025576119
Option 11D : 40255724473
Option 2 ID : 40255724474
Option 3 ID : 40255724475
Option 4 ID : 40255724476
Status : Answered
Chosen Option : B
Q.13
T & U Had 1 U aUT 2 T9U & fad 71 afe 396 U $d 0 Fiad § oyl
P AR E. 100 7 Al IUD U 1 TYT qUT 2 FU & fdha- a® gl
A, 40 dYT 20
B. 20d4T 40
C. 10 d4T 50
D. 50dYl 10
Ans X A A
« B.B
X c.c
X D.D
Question ID : 4025576135
Option 11D : 40255724537
Option 2 ID : 40255724538
Option 3 ID : 40255724539
Option 4 1D : 40255724540
Status : Answered
Chosen Option : B




Q.14 WRIG @) B Hald Sarg 320 I, T 396 79 98 B T3 150 1A §1 59 WG (@y) R &l fhy S

qrl ¢ Bl SHUDHIH o HT IR
A. 470 R
B. 395 f&HI
C. 640 fEHL
D. 940 f&HI.
Ans X A A
X B.B
Xc.c
& D.D
Question ID : 4025576089
Option 11D : 40255724353
Option 2 ID : 40255724354
Option 3 ID : 40255724355
Option 4 1D : 40255724356
Status: Not Answered
Chosen Option : --
Q.15 . ; oo ;
Which of the following materials is most elastic?
A. Rubber
B. Steel
C. Aluminium
D. Wrought iron
Ans X A A
" B.B
X c.c
X D.D
Question ID : 4025576110
Option 11D : 40255724437
Option 2 ID : 40255724438
Option 3 ID : 40255724439
Option 4 1D : 40255724440
Status : Answered
Chosen Option : A




Q.16

The coupling used for soft start and to avoid shocks during power transmission

A. Spider coupling

B. Fluid coupling
C. Gear coupling
D. Flange coupling
Ans X A A
& B.B
X ccC
A D.D
Question ID : 4025576124
Option 1 ID : 40255724493
Option 2 ID : 40255724494
Option 3 ID: 40255724495
Option 4 ID : 40255724496
Status : Answered
Chosen Option : B
Q.17 One of the following is related statement for shaft basis tolerance system,
A. Lower deviation of hole is zero
B. Upper deviation of hole is zero
C. Lower deviation of shaft is zero
D. Upper deviation of shatt is zero
Ans X A A
X B.B
X CcC
" D.D
Question ID : 4025576082
Option 11D : 40255724325
Option 2 ID : 40255724326
Option 3 ID : 40255724327
Option 4 1D : 40255724328
Status : Answered
Chosen Option: C




18 fxie 3t 2% @I Bard gu Rae 2 (R B & o i 50S &1 v

T ST 87
A. gfq diF gadisT
B. I U guleT
C. ¥e UH gdisT
D. it gudleT
Ans @ AA
X B.B
X c.c
X DD
Question ID : 4025576104
Option 11D : 40255724413
Option 2 ID : 40255724414
Option 3 ID : 40255724415
Option 41D : 40255724416
Status : Answered
Chosen Option : A
Q.19 %
Te qrdg BV FHYS ST 8ABA 32em? § dl cm H 39D HUl ddllg «--- g
A. 16
B. V64
C. V128
D. V32
Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576158
Option 11D : 40255724629
Option 2 ID : 40255724630
Option 3 1D : 40255724631
Option 4 1D : 40255724632
Status : Answered
Chosen Option : B




Q20 yHTSiA # Hg Wi Ud 3faile Uigedl 8q SF 91 AUTNS YarT fhar

I
GIEIEEGEIRS]

B TRTTS U

C HifeTd FRISS

D TG fIRTES

Ans X A A
X B.B
X cC.cC
" D.D
Question ID : 4025576120
Option 11D : 40255724477
Option 2 ID : 40255724478
Option 3ID : 40255724479
Option 41D : 40255724480
Status : Answered
Chosen Option : D
Q.21 - .
HRd H [T gus JUUg Pl -MH ddiu
A. 3MUHE
B. fgull 3MRuH-1
C. dxdl-
D. HITUI
Ans  # ALA
X B.B
X c.c
X D.D
Question ID : 4025576147
Option 11D : 40255724585
Option 2 ID : 40255724586
Option 3 ID : 40255724587
Option 4 ID : 40255724588
Status : Answered
Chosen Option : A




Q.22 Accuracy of machine shop steel rule is

A. 0.05mm
B. 0.5mm
C. 1.0mm
D. 1.5mm
Ans X A A
« B.B
X cC.cC
X D.D
Question ID : 4025576154
Option 11D : 40255724613
Option 2 ID : 40255724614
Option 3 ID : 40255724615
Option 4 ID: 40255724616
Status : Answered
Chosen Option: B
Q.23 . .
g, fowe fea & forg et | forg faeeny i
Ans X A A
X B.B
X cC.C
& D.D
Question ID : 4025576086
Option 11D : 40255724341
Option 2 ID : 40255724342
Option 3 ID : 40255724343
Option 4 ID : 40255724344
Status : Answered
Chosen Option : D




Q.24

The box nut of a bench vice is made of

A. Mild steel

B. Phosphorous bronze
C. White metal

D. Alloy steel

Ans X A A
" B.B
X cC.cC
X D.D
Question ID : 4025576094
Option 11D : 40255724373
Option 2 ID : 40255724374
Option 31D : 40255724375
Option 4 ID : 40255724376
Status : Answered
Chosen Option : B
Q.25 . . . .
P U&TE H, Udd dfea H il o Hwe uidadl o1 9% & 9HH g dfc UalFg 31
&N 40000 B 1 U@ Ufed H PRl &1 e J1d a |
A 20
B. 2000
C. 200
D. 20000
Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576134
Option 1 ID : 40255724533
Option 2 ID : 40255724534
Option 3 ID : 40255724535
Option 4 ID : 40255724536
Status : Answered
Chosen Option: C




Q.26

AT Yetbe T IMAHS A

A. Al(SOy)

B. Alx(SO4):
C. Al(SOs)s
D. Al(SOs):

Ans X A A
X B.B
& C.C
X D.D
Question ID: 4025576141
Option 11D : 40255724561
Option 2 ID : 40255724562
Option 3 ID : 40255724563
Option 41D : 40255724564
Status : Answered
Chosen Option : A
Q.27 Y =
faegad IR fFrgor esl<m ¥, 96 49 & b g
% -~
A. AP dd H °d 9I1d g
B. 11 X dIidhd ol oIld ©
[ - Y =
C. 9IgR Fod oId &
D. SWRIFd H I Bl Hf 78!
Ans @ AA
X B.B
X cc
X D.D
Question ID : 4025576091
Option 11D : 40255724361
Option 2 ID : 40255724362
Option 3 ID : 40255724363
Option 4 ID : 40255724364
Status : Answered
Chosen Option : A




Q.28

0.24x 1000 = TV hd g
A. 24

B. 24
C. 240
D. 2400

Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576130
Option.1.1D : 40255724517
Option 2 ID : 40255724518
Option 31D : 40255724519
Option 4 ID : 40255724520
Status : Answered
Chosen Option: C
Q.29 Bell punch is used for
A. Finding the datum line
B. Punching marked lines on odd shaped job
C. Finding intersecting point
D. Marking of center on round end
Ans X A A
X B.B
X c.c
& D.D
Question ID : 4025576092
Option 11D : 40255724365
Option 2 ID : 40255724366
Option 3 1D : 40255724367
Option 4 1D : 40255724368
Status : Answered
Chosen Option : D




Y ot it & o oot T o Al 22
A TY
g. fafeT A==
c. fefdmasiq
D. ISIET R

Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576099
Option 1 ID: 40255724393
Option 2 ID : 40255724394
Option 3 ID : 40255724395
Option 4 ID : 40255724396
Status : Answered
Chosen Option: C
Q.31
V0.0¢ @ HH Haifey
A, 0.02
B. 0.002
C. 02
D. 2
Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576129
Option 11D : 40255724513
Option 2 ID : 40255724514
Option 3 ID : 40255724515
Option 4 1D : 40255724516
Status : Answered
Chosen Option : B




EE LA g 390Td ¥ SaTG] T B

Ans X A A
" B.B
xXcc
X D.D

Question ID : 4025576156
Option 1TID : 40255724621
Option 21D : 40255724622
Option 3 ID : 40255724623
Option 4 ID : 40255724624
Status : Answered
Chosen Option : A

Q33 GreT IR P AT ST TG T woeoeneee oIS R PR B SRR R
A. 106cm
B. 80cm
C. 150cm
D. 125c¢cm

Ans @ AA
< B.B
Xc.c
X D.D

Question ID : 4025576106
Option 11D : 40255724421
Option 2 ID : 40255724422
Option 31D : 40255724423
Option 4 ID : 40255724424
Status : Answered
Chosen Option: A




Q.34

W sl a1 gial §
A. B4l 3HId
B. fireal gt @gr
C. diad
D. Gadl argl
Ans X A A
« B.B
X c.c
X D.D
Question ID : 4025576107
Option 11D : 40255724425
Option 2 ID : 40255724426
Option 3 ID : 40255724427
Option 41D : 40255724428
Status : Answered
Chosen Option : D
Q.35 .
g TP T BT YT $I da1g 10cm B, O SUDT YT FAFT ..o T
A, 600 Sq.cm
B. 100 Sq.cm
C. 300 Sq.cm
D. 200 Sg.cm
Ans @ AA
X B.B
X c.c
X D.D
Question ID : 4025576159
Option 11D : 40255724633
Option 2 ID : 40255724634
Option 3 ID : 40255724635
Option 4 1D : 40255724636
Status : Answered
Chosen Option : D




Q.36

PO USR ® a5+ S A STy
A. e 9@ argA
B. hegasd

C. UFICRH a3
D. DI &H g
Ans X A A
X B.B
o C.C
X D.D
Question ID : 4025576127
Option1ID : 40255724505
Option 2 ID : 40255724506
Option 31D : 40255724507
Option 4 ID : 40255724508
Status : Answered
Chosen Option : B
Q.37 Diamond Grinding wheel can be dressed with
A. Diamond dresser
B. Aluminium Oxide Abrasive
C. Hard Ceramic dresser
D. Soft Silicon Carbide abrasive
Ans X A A
X B.B
X c.c
o D.D
Question ID : 4025576087
Option 11D : 40255724345
Option 2 ID : 40255724346
Option 3 ID : 40255724347
Option 4 ID : 40255724348
Status : Answered
Chosen Option: A




Q.38

The thickness of 14 SWG sheet is

A. 1.22mm
B. 1.5mm
C. 2.0mm
D. 2.25mm
Ans X A A
X B.B
« C.C
X D.D
Question ID : 4025576114
Option 11D : 40255724453
Option 2 ID : 40255724454
Option 3 ID: 40255724455
Option 4 ID : 40255724456
Status : Answered
ChosenOption: C
Q.39 =
R Jibel Jid & : 25, 18, 20, 32, 16, 17, 12, 15, 10, 19, 11, 6,8
A. 10
B. 15
C. 18
D. 26
Ans X A A
/< B.B
X c.c
« D.D
Question ID : 4025576131
Option 11D : 40255724521
Option 2 ID : 40255724522
Option 3 1D : 40255724523
Option 4 1D : 40255724524
Status : Not Answered

Chosen Option :




Q.40

The liquid temperature of the filler metal used in brazing is

A 427°C
B. 150°C
C. 723" €
D. 1000°C
Ans @ AA
X B.B
X ccC
X D.D
Question ID : 4025576153
Option 11D : 40255724609
Option 2 ID : 40255724610
Option 3 1D : 40255724611
Option 4 ID : 40255724612
Status : Answered
Chosen Option: C
.41 : ; :
Q foa wEfEn & eRM, Wi ufey & dev & a8 Sugad @ (&3 5) P = fsa @ v s a@ar
g
A, 295
B. 45
C. 59
D. 118
Ans X A A
X B.B
o C.C
X D.D
Question ID : 4025576088
Option 11D : 40255724349
Option 2 ID : 40255724350
Option 3 1D : 40255724351
Option 4 1D : 40255724352
Status : Answered
Chosen Option : D




Q.42

A AN ATT F YIIT D i1 drell TTd Wi &1 U gidl o

A Us1
B. US2
C. Us3
D. US4

Ans X A A
« B.B
xXc.c
X D.D
Question ID : 4025576155
Option 11D : 40255724617
Option 2 ID : 40255724618
Option 3.ID : 40255724619
Option'4 1D : 40255724620
Status : Answered
Chosen Option: B
Q.43
AT T UBd 3T B Y HH & fod Foffea ¥ L Ed
gerf &1 W forar ST 1
A. 0 Td [ RAfe i Saigs TR
8. THRI a1y
C. g gd
D. TegHaT SHiadss de
Ans X A A
& B.B
xXc.c
X D.D
Question ID : 4025576115
Option 11D : 40255724457
Option 2 ID : 40255724458
Option 3 ID : 40255724459
Option 4 1D : 40255724460
Status : Answered
Chosen Option : B




Q.44

A grinding wheel is marked “51 A 46 L 5 V —23”. Here what does ‘5” denote?

A. Kind of bond
B. Structure
C. Kind of abrasive
D. Grain size
Ans X A A
" B.B
X c.c
X D.D
Question ID : 4025576090
Option 11D : 40255724357
Option 2 ID : 40255724358
Option 3 ID : 40255724359
Option 4 ID : 40255724360
Status : Answered
Chosen Option: B
Q.45 ﬁ ﬁ ﬁ %
Ans X A A
/< B.B
& C.C
X D.D
Question ID : 4025576109
Option 11D : 40255724433
Option 2 ID : 40255724434
Option 3 ID : 40255724435
Option 4 ID : 40255724436
Status : Answered
Chosen Option: C




Q.46 A cube of lcm side, contains material of mass 50 gm. What is the density of the material

inside the cube?

A. 40 gm/cm?
B. 20 gm/cm?
C. 50 gm/cm?
D. 10 gm/cm?
Ans X A A
% B.B
& C.C
X D.D
Question ID : 4025576142
Option 1 ID : 40255724565
Option 2 ID : 40255724566
Option 3 1D : 40255724567
Option 4 ID : 40255724568
Status : Answered
ChosenOption: C
Q47 Which comparator is used in mass production
A. Optical
B. Pneumatic
C. Electronic
D. Mechanical
Ans X A A
% B.B
& C.C
X D.D
Question ID : 4025576097
Option 1 ID : 40255724385
Option 2 ID : 40255724386
Option 3 ID : 40255724387
Option 4 1D : 40255724388
Status : Answered
Chosen Option : D




4 Fred et (@ fem) U Ry S Fg H e g FTaed g

A. JddId gq STRfisH &t smyfd
B. gddrud g Uffeeti« &I smyfd
C. Ple o fo1u Sfferitsi &t sigfd
D. ®led & fo1u uRfeedi= & smfd

Ans X A A
X B.B
o C.C
X D.D
Question ID : 4025576117
Option 1 ID : 40255724465
Option 2 ID : 40255724466
Option 3 ID : 40255724467
Option 4 ID.: 40255724468
Status : Answered
Chosen Option : A
Q.49 Bending of a rope is known as
A. Bight
B. Round turn
C. Loop
D. Knot
Ans o ALA
X B.B
X cC.cC
X D.D
Question ID : 4025576126
Option 11D : 40255724501
Option 2 ID : 40255724502
Option 3 ID : 40255724503
Option 4 1D : 40255724504
Status : Answered
Chosen Option : A




Q.50

‘Which nut protects the bolt end thread from damages?

A. Cap nut
B. Castle nut
C. Slotted nut
D. Knurled nut
Ans @ AA
X B.B
X cc
X D.D
Question ID : 4025576098
Option 11D : 40255724389
Option 2 ID : 40255724390
Option 3 1D : 40255724391
Option 4 1D : 40255724392
Status : Answered
Chosen Option : A
Q.51
3R cos x = 2/3, A cot X ...... & THAM &l
A. 52
B. 2/5
C. V512
D. 5A2
Ans X A A
« B.B
X cc
X D.D
Question ID : 4025576133
Option 11D : 40255724529
Option 2 ID : 40255724530
Option 3 1D : 40255724531
Option 4 1D : 40255724532
Status : Answered
Chosen Option : B




52 9 55 BT MR 5525 mm & TUT AR BT BR 55030 mm. Rban B
JUAH T
A. 10.020 mm
B. —0.020 mm
C. +0.400 mm
D. +0.160 mm
Ans X A A
X< B.B
X C.C
& D.D

Question ID : 4025576083
Option 11D : 40255724329
Option 2 ID : 40255724330
Option 3 ID: 40255724331
Option 4 ID : 40255724332
Status : Answered
Chosen Option : D

Q.53
3,10,24,50,7,170

A, 80
B. 82
C. 120
D. 121

Ans X A A
X B.B
& C.C
X D.D

Question ID : 4025576136
Option 11D : 40255724541
Option 2 ID : 40255724542
Option 3 1D : 40255724543
Option 4 ID : 40255724544
Status : Answered
Chosen Option : B




Q.54

I T TR AT Y 90 TSl § SR §ue! e ghft
A. @ig ot fe=m

B. TIfd &1 fgam & SHHIaR

C. id Dt fe= o dadq

D. TIfd &1 f&2 & faudid

Ans X A A
X B.B
X ccC
& D.D
Question ID : 4025576144
Option 1 ID : 40255724573
Option 2 ID : 40255724574
Option 3 ID : 40255724575
Option 4 ID : 40255724576
Status : Answered
Chosen Option: D
Q.55 .
Frafiad # 9 S Ucde /Y- o Sfaid -1g A1l
A. ORI
B. T
C. cfam
b, ¢
Ans X A A
X B.B
X ccC
« D.D
Question ID : 4025576096
Option 11D : 40255724381
Option 2 ID : 40255724382
Option 3 ID : 40255724383
Option 4 1D : 40255724384
Status : Answered
Chosen Option: C




Q.56 g e Q) = & o g o gl 40 b 7 /5fer qut o1 Femsh g 60 e M A M TR I T AR

B ofled Tifd & gfie
A. 50 fas #t seter
B. 48 .. /ger
. 100 fa.# /et
D. 60 f&. . /ger
Ans X A A
« B.B
X c.c
X D.D
Question ID : 4025576143
Option 11D : 40255724569
Option 2 ID : 40255724570
Option 3 1D : 40255724571
Option 4 ID : 40255724572
Status : Answered
ChosenOption : A
Q.57
S $P d 8% @Id) W F&Ial £0.05 A, 31 A o W 30féd =ga9 g gl
ey
A. 0.0025 AL
B. 0.025 fHL
C. 0.050 fAAL
D. 0.10 fH,
Ans X A A
« B.B
X c.c
X D.D
Question ID : 4025576100
Option 11D : 40255724397
Option 2 ID : 40255724398
Option 3 ID : 40255724399
Option 4 1D : 40255724400
Status : Answered
Chosen Option : D




Q58 wWhich is of the following is an antonym of ABSENCE?
A. Wise

B. Presence

C. Untidy
D. Above
Ans X A A
« B.B
X c.cC
X D.D
Question ID : 4025576146
Option 11D : 40255724581
Option 2 ID : 40255724582
Option 3 ID : 40255724583
Option 4 ID : 40255724584
Status : Answered
Chosen Option: B
Q.59
TS T 0.5 m/s? Ta01 & 1Y Tad! 81 4G 8 100 m I 9o1 &, A1 39! TTid BRI
A. 10 kmph
B. 100 m/s
C, 36m's
D. 36 kmph
Ans X A A
X B.B
X cC.cC
& D.D
Question ID : 4025576160
Option 11D : 40255724637
Option 2 ID : 40255724638
Option 3 ID : 40255724639
Option 4 1D : 40255724640
Status : Answered
Chosen Option: C




9 a5 3o 2

A. q't_ﬂ
B. Ulkdhdl
c. MW
D. VR
Ans  # AA
X B.B
X c.c
X D.D
Question ID : 4025576137
Option 1 ID : 40255724545
Option 2 ID : 40255724546
Option 3 ID : 40255724547
Option 4.ID : 40255724548
Status : Answered
Chosen Option : A
Q.61 . .
Y Byl &1 91 Fand forget Qaft yerreff 31 s U 99HE §
A fawnarg
B. TH®I
c. S B0
D. JHETE
Ans X A A
X B.B
X c.c
& D.D
Question ID : 4025576132
Option 11D : 40255724525
Option 2 ID : 40255724526
Option 3 ID : 40255724527
Option 4 ID : 40255724528
Status : Answered
Chosen Option : D




Q62 1y the honing process.....
A. Material will be removed to correct size
B. No material will be removed to correct size
C. Finishing of the material surface is done by abrasive rubbing
D. Super finishing is obtained by rubbing with emery paper
Ans @ AA
% B.B
X c.c
X D.D
Question ID : 4025576122
Option 11D : 40255724485
Option 2 ID : 40255724486
Option 3 ID : 40255724487
Option 4 1D : 40255724488
Status : Answered
Chosen Option : C
Q63 iy wifiie (AR fipaae) & YR e & ad W a4 99T UaH fbar 91 82
A. SoR A & faw
B. I WIS & fag
C. o1 @ dqu & fau
D. Wit (frday) 31 I safid & fag
Ans X A A
X B.B
Xcc
& D.D
Question ID : 4025576102
Option 11D : 40255724405
Option 2 ID : 40255724406
Option 3 1D : 40255724407
Option 4 1D : 40255724408
Status : Answered
Chosen Option : B




Q.64

Which one of the following vices is usually used in forging shop?

Hand vice

A.
B. Bence vice
G,

Leg vice
D. Pin vice
Ans X A A
X B.B
& C.C
X D.D
Question ID : 4025576116
Option 11D : 40255724461
Option 2 ID : 40255724462
Option 3 1D : 40255724463
Option 4 ID : 40255724464
Status : Answered
Chosen Option : C
Q.65 . .
The tolerance of a hole is the difference between the ....
A. Maximum hole size and maximum shaft size
B. Maximum hole size and minimum hole size
C. Minimum hole size and maximum shaft size
D. Maximum hole size and minimum shaft size
Ans X A A
X B.B
xc.c
& D.D
Question ID : 4025576084
Option 11D : 40255724333
Option 2 ID : 40255724334
Option 3 ID : 40255724335
Option 4 1D : 40255724336
Status : Answered
Chosen Option : D




Q.66 Point of center punch is ground to an angle (in degrees) of

A IS
B. 45
C. 60
D. 90

Ans X A A
X B.B
Xcc
& D.D

Question ID : 4025576103
Option 11D : 40255724409
Option 2 ID : 40255724410
Option 3 ID : 40255724411
Option 4 ID : 40255724412
Status : Answered
Chosen Option : D

Q67 A fit designated as 25H7/p6 isa ....

. Clearance Fit
Transition Fit

Interference Fit

O oW p

. Tolerance Fit

Ans X A A
X B.B
& C.C
X D.D

Question ID : 4025576085
Option 11D : 40255724337
Option 2 ID : 40255724338
Option 3 ID : 40255724339
Option 4 1D : 40255724340
Status : Answered
Chosen Option: C




Q.68

T BRI Tl UT=I b § STGI HAR BI?

A. D U B! BIE &Il

B. Ycidhdl ol 3t

C. U Hd® B! HIe il
D. UHTSH YaTa! H T8Y ¢ad §e Sld §

Ans o AA
X B.B
X c.c
X D.D
Question ID : 4025576101
Option 1 ID : 40255724401
Option 21D : 40255724402
Option 3 ID : 40255724403
Option 4 ID : 40255724404
Status : Answered
Chosen Option : A
" e 3 forg Y W 2
A. CH;
B. CH:
C. C:Hz
D. €sHs
Ans X A A
«” B.B
X cc
X' D.D
Question ID : 4025576157
Option 11D : 40255724625
Option 2 ID : 40255724626
Option 3 ID : 40255724627
Option 4 ID : 40255724628
Status : Answered
Chosen Option : B




Q.70 Property of metal which offers resistance to indentation and scratch is called

A. Stiffness
Toughness

B.
C. Resilience
D.

Hardness
Ans X A A
X B.B
Xc.c
& D.D
Question ID : 4025576108
Option 11D : 40255724429
Option 2 ID : 40255724430
Option 3 1D : 40255724431
Option 4 1D : 40255724432
Status : Answered
Chosen Option : B
Q.71 _
g Ul o g U1, S, Uiad 3fe., I o1g &1 9! O ge & O o Wiga an &t
IR
A S9d < BIEd
g. AISH BIEd
c. SSTCBREA
D. TiilgTgd Wigd
Ans X A A
X B.B
& C.C
X D.D

Question ID : 4025576105
Option 11D : 40255724417
Option 2 ID : 40255724418
Option 3 ID : 40255724419
Option 4 ID : 40255724420
Status : Answered
Chosen Option: C




Q.72
What is the hardening temperature for HSS tool?
A. 1250°C
B. 950°C
C. 850°C
D. 750°C

Ans o AA
X B.B
Xc.c
X D.D

Question ID : 4025576112
Option 1 ID : 40255724445
Option 2 ID: 40255724446
Option 3 ID : 40255724447
Option 4.ID : 40255724448
Status : Answered
Chosen Option : B

Q73 Ty process of super finishing the internal surface of cylindrical bores is

A. Lapping
B. Burnishing
C. Abrading
D. Honing
Ans X A A

X B.B

Xc.c

& D.D

Question ID : 4025576118
Option 11D : 40255724469
Option 2 ID : 40255724470
Option 3 ID : 40255724471
Option 4 ID : 40255724472
Status : Answered
Chosen Option: D




Q.

) d¢ ATavH & gad Ygd foba aof 1y mar 41

A. 1947
B. 1905
C. 1995
D. 1896

Ans X A A

Question ID : 4025576148
Option 1 ID : 40255724589
Option 2 ID.: 40255724590
Option 31D : 40255724591
Option 4.ID : 40255724592
Status : Answered
Chosen Option: A

Q.75

& (G102 S 9F S| 3Pls § 95ad o
A. 0.0981MPa

B. 9.81MPa

C. 0.981MPa

D. 10%Pa

Ans o # AA
X B.B
Xc.c
X D.D

Question ID : 4025576095
Option 11D : 40255724377
Option 2 ID : 40255724378
Option 3 ID : 40255724379
Option 4 ID : 40255724380
Status : Not Answered
Chosen Option : --




Q76 e property of a metal by virtue of which the metal can withstand shock load is called .....

A. Hardness
B. Brittleness
C. Ductility
D. Toughness
Ans X A A
X B.B
Xc.c
& D.D
Question ID : 4025576150
Option 11D : 40255724597
Option 2 ID : 40255724598
Option 3 1D : 40255724599
Option 4 1D : 40255724600
Status : Answered
Chosen Option : D
Q.77 Very small-time intervals are accurately measured by
A. White dwarfs
B. Quartz clocks
C. Atomic clocks
D. Pulsars
Ans X A A
X B.B
& C.C
K D.D
Question ID : 4025576138
Option 11D : 40255724549
Option 2 ID : 40255724550
Option 3 ID : 40255724551
Option 4 1D : 40255724552
Status : Answered
Chosen Option : B




Q.78

Which hammer generally used in forging operations
A. Ball peen hammer
Setting hammer

B.
C. Flat head hammer
D.

Sledge Hammer
Ans X A A
X B.B
X cc
& D.D
Question ID : 4025576113
Option 11D : 40255724449
Option 2 ID : 40255724450
Option 3 ID : 40255724451
Option 4 1D : 40255724452
Status : Answered
Chosen Option : D
P Ud Y AR RISR ©
Ans X A A
/< B.B
X c.c
& D.D
Question ID : 4025576140
Option 11D : 40255724557
Option 2 ID : 40255724558
Option 3 ID : 40255724559
Option 4 ID : 40255724560
Status : Answered
Chosen Option: D




Q.80 Ngutical mile is a unit of distance used in

Ans

A. Navigation
B. Road mile
C. Astronomy
D. Measuring the boundaries of a nation
o A A
X B.B
xXc.c
X D.D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

4025576139
40255724553
40255724554
40255724555
40255724556
Answered

A




